SF0 145 i = X 15
IHEATR ;AR _____ NAHBBE
R I S N o ATEE] B | | ||t [
| 1WE1~4TH Ecei * 1. fEJtl:ng 5 ttfgﬁitt£$tt2% B
THE R s fitps A5 — | B JEJtI:YéJ’;tI:i’éFﬁttﬁﬁitt‘E% — —
LELIA 0 HE LLRE 3.7l 5. 80 Lo@E 1.op  —|  —
THEL - 2TH |2 — | B |ECLMEE b b e b | —
EZHE3 - 4TH I fith e Aok — | BEAR B HEE Ve e e — —
BRI 0> Hl 5 1.0 [ Ly bt e i b v | —
ZEE1~11TH |2 — | BRR A CLUEE b e b | —
W I 1~ 3T H geit — | B - - - - - -
4ET1TH & A A s - - -
EFLLISN O HilE - -
4HT2TH Eaeir - -
Bk R Lo AR - -
ERRLASN O Hitl -l -
Figeans Bt - -
5| Wik 1~3TH S T R LoD Al HR - -
ERELASR D iR - -
| REH#E1~5TH ER T FHE R Lo A - -
LFEELS 0 Hirtsk - -
P ECsig -1 -
g1 ~10TH e i ek — | B A EEE e e e — -
FEELS o> H e 1.1 (& B Y B b v b v - -
CHRET Ecei 0.9 |/l L tl:i’él‘ﬁtt@ﬂittij - -
Dy A A HET R g — | BRMR | Lb MR b e M b - -
LELEASR > iR 1O |E e b v e vl bkl | —
FEHET1~3TRE |2 — | B ALY L e e b | —
A Esein L1 [#f 3. 7h 4.3%0 116 1. — -
iy Eeeiy LL[F0 3. 690 4. 30 0.8 0.8 —| —
| A1 ~3TH 6 A e — | BSHR |JE b EE e e YT b - -




ST 145y i = X 25
HXATF 4 . Heh H S E
S (TR wass @M m oW g [P ACEERTEECEA RS
& AL1~3TH BRI o> ik ' L. O%Jﬁjttfglﬁttfgﬁittgﬂitﬁ% B -
Bl S Ve P 11 [l 3. 1 7. 15 0. 8 - -
LELEASN o i 1.0 7. 14 0. 8 — —
JESBET AT Y I 1.1 3. 5l 0. THh -l -
JLHBETHE 2 5 G, BTE, K, dbs i, dhE L1 | 9.4 9. 6 0. Gif - -
ERCEAS 0> it 1.1 7.1 0. 8 — —
<| MR BT EHEE o ik Hhisg L1 bb ST b -1 -
_ERCEASN 0> itk 1.1 4.3 1. Of - -
AT =i 1.1 4.3%0 0.8 0.8 | —
g BEHE Ecein 1.1 4.3 0.84f 0.8  — -
&| Ee IR 1.1 43@09[;@0.9 - -
ZENUN R AT 3 — | B i e
ERELASN D iR 1.1 W — — - —
U 5 Ext 1.1 4. Sr@ 0.8 0.8 — -
it WA 1~3TH B A A5 — | B wwe - - - =
ERELAS O SR 1.1 i I e
#WE1 - 2TH S A — | B PeHEdT M | —
LFELLS D i 1.1 et el -k e 2k - -
| WE1~3TH R A 358 — | B& - I e
BRI INGYC 1.1 e~ - - -
bl PGBl - 2TH &R — | E#R e - - - -
o &M gt 1.1 4. :T@ 0. Srm 0.8 — -
T Kf@1-2TH R T EHE S R Ak 1.0 MM b | —
LELEASR > iR 1.1 5.800 1LLowhE 1.0 — -
&| BEEAT 418, 1.0 tl:@r _ _ _ _
P F T ETE o MR
1 B — | B LT e | —
2 kRRELUh o s 1.2 LT T | —




ST 145y i = X 3E
HXATF 4 . Heh H S E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Ll P FCRAS o Hir e
1 BEEREUIEL P o B A X .97 - - - -
2 LEELIS o 580 Lol 1.0 — —
Feil~4TH Eein - J:I:E”EEEJ:I:;’%FEI:I:Z’% - -
G Ege 4. 35 1. T@q Ly - -
2 PFEF1~4TH i S ipeicki - tlf.fé[ﬁhti’éﬁtti’é - -
EFRLIS otk PLEE R | —
P SR T I8 B I 27T L 1 | —
FEET A2 0 g .00 Lo 1Ly | —
P SR ET R B g w12 | —
P SER AT PR LRI FZTF, =7k LBEF il 1.2 — —
LFRLLA o> it il 1.2 — —
P 0 BT e S 12— —
e ST P T =ty oLy - —
R AR SRR E=2: o e
P SR T i T B2 o e
P ST AR Eee: Wi 1.0 — -
A AR T A A I Lol 1.2 —|  —
iz PR I Moo - —
ERS 1T H B AT 35k - o e
LFELLS oD ke MY — -
Frsm2~5TH Eetin HemteE - -
PHET sl . rm Lo - -
FEET1TH £ W - -
HET2TH FRTTEME VA B o A iR it — -
_EEELIAN 0> itk N O -
i3 Bz gt gfli0.8 | —
N HF5r Eseid oL | —




SF0 145 i = X 1H
rhl:mTﬁ% H e H S E
% e = % = = f& ®
O\ “F(l g 1O 3.7/ 5. 80 116 1.1 —|  —
oy AR R A o ik
1 WSl s — | BRAR JEILEEE kEET L | —
2 BRI 1. O |/ b B b E bb e b - -
EERLIA o Hitkek 1.1 [#f 3.9 Sl 1L OfE 1O — —
S BT gt 11| 3.7 [@1.0[: .o — —
i 2R BT MEE b FiE g
1 SRR ik — | HR B b HEE b e b e L e - -
2 LRI o Hitk 1. O |JE] bk #EE b e AT b 9 - -
EELIA O Hi 1.1 [# 3.6 ﬁ Lot 1.0 —| —
E&1TH P ARA Hirdsk — | BEHE B A ttfémtti%[ﬁtt“@ - -
LRELEAS o Hirts 1. O (& BB ke b e E T - -
ERA2~5TH = L1 | e b b M e e | —
EA6TH S A — | BEAR [RISLUEE REE AR~ —
LRELLA D s 1. 2 |J& LB b E b e HL e - -
E3RE: I 1.0 3.7 - =
TR g 1O 4.1 — —
A=t} g 1.2 [ 3.7 - -
X EH5 I 1.1 [d 3.6 - -




